This chart ill assist in order preparation and in the preparation of return equipment lists
for all Mox-A-Form System components and associated components. When placing an order
either by mail or by phone, please identify each component by its correct name and product
code number. Should you have any questions about availability of o special product, please
contact your Symons Account Manager or Symons Distribution Center.

©SYMONS MAX-A-FORM IDENTIFICATION CHART

SPREADER BEAMS TOP TIES

9% KIP TAPER TIE 2'-4%"

HEAVY DUTY
BRACE BRACKET 3/

P.C. 394 - MElGHT |6 a1 8 ly" MF 10 " MF .b
CODE MN. [ MAX. | MN. | MAX. | MN. [ MAX.

Milbs | 0% [ 2% [ &' [ N% | 2% |13% =ﬁ=
i o

05Lbs 20 4" | 3% |6 %" | % | 2% | 23%
BLbs. | 30 Y| 4% |20 % | 31%"| 22" | 33%"
AR HEER Wl 415 320 | 43 %"
29 Lbs. | 40 Y% 4" | 30 4 4" 32 4 % HINGED TOP TIE
P.C. 39932
WEIGHT: 26 Lbs.

w
3
()
S5

MAX-A-FORM

/] /&
Dy
:

Q

HEAVY DUTY SHOE
P.C. 39642

3l Lbs. | 50 4" 51%"( 424" | 53 %"

12 KIP
SPREADER BEAM

P.C. 3329
WEIGHT: 122 Lbs.

52 KIP
SPREADER BEAM

PC. 3310
WEIGHT: 40l Lbs.

PIER CAP BRACE
612" - PC. 39919
85 112" - PC. 39380

3‘-@“, 6‘-@“, %I_@II

/-l-..la..l-.alo.-lo

/‘..- Ppeoo oo Pooe e oo

\n.....n.n.....n.n..\
/l-..-..l-l.-..l-/

/'.."l"ll'.l"'..'

EXTENSION TUBE
56" - P.C. 3938l
2" - PC. 39982

PC. 398 WEIGHT: 19 Lbs.

PC. 39933 WEIGHT: 37 Lbs.
PC. 39934 WEIGHT: 56 Lbs.

3'-@" TOP TIE
6'-0" TOP TIE
90" TOP TIE

e © 0P p p © O 0 0 & 0 p o
e o o 0o & 0 © 06 & 0 0 0 O

TYPICAL
MAX-A-FORM PANEL

1 n
OUTSIDE CORNER LAP ANGLES FILLER ANGLE INSIDE STRIPPING CORNERS COMBINATION RIGID CORNER - I%

STABILITY BEAM
20'-0" PC. 33248
20" PC. 39349

000000000000 000000000C0C0CO0COC
000000000000 00000000000CO0OC

=§¥L

ANCHOR BRACKETS BOTTOM TIES

HEAVY DUTY SHOE
P.C. 3342

150 KIP SPREADER
BEAM BRACE

P.C. 3391
WEIGHT: 12 Lbs.

BRACE
RANGE
R. W5e" EXT.
R. W/Q2" EXT,

PL.3%31
412" 10 e'-0"
1-512" 10 9'-0"
105 12" 1o 2'-0"

P.C. 32380
6'-5 2" 10 16"
1-5 12" 1o 100"
10'-5 12" to 13'-6"

A le B I

|2 ! )
( 1

—

BEAM THICKNESS
8,9, 410" MF

O 0O 0O0OO0O O OOCOCOOOOOOOOOOOOo i A D

2' MF
0'-0" 10 4'-5° | ©'-2" 10 4'.3"

2" theu 1" MF

00000001
OOOOOOOJ

[-lo* I 12"
%&f ner| 1o 49 | 37|11
1 -9 |3-lpr| 39 | 4" |1 12"

bll
b.10*| 39"

T-l07| 39

-2 10 4.1

|e-2r 1051 | 0-0" 1055 | 00" T0 5'-3]

STABILITY BEAMS 2-2"10 &'-1" | 2-0" 10 &'-5" | 2'-2* 10 &'-3"

2" 42'10 81" | 40" 10 85" | 42" T0 83"

—

P-BH

7HL 2 yz" DIA 12" 6'-2' 10 10"-1'|6"-0" 10 10'-5"|6'-2* T0 I0'-3
12 KIP

SCREW JACK
PC. 33971

WEIGHT: 90 Lbs.

%u

BOTTOM TIE
SPACER

PC. 3993
WEIGHT: 10 Lbs.

12 KIP SCREW JACK
W/ SANDJACK

P.C. 3365l
WEIGHT: 125 Lbs.

140 KIP SCREW JACK
W/ SANDJACK

P.C. 33650
WEIGHT: 13 Lbs.

140 KIP REV. TWO-POSITION
ANCHOR BRACKET

P.C. 32934
WEIGHT= 325 Lbs.

140 KIP ONE-POSITION
ANCHOR BRACKET

P.C. 33914
WEIGHT: 206 Lbs.

l42 KIP
SCREW JACK

PC. 3318
WEIGHT: 138 Lbs.

NOTE: 4'-0" MAXIMUM SPACING OF BOTTOM TIES ON POURS
8'-0" WIDE OR LESS
3'-0" SPACING ON POURS GREATER THAN &'-0" WIDE

olloc o o ollo

s [

ojo o o ojo

SECTION A

>

STANDARD
BRACE BRACKET

P.C. 3402
WEIGHT: 12 Lbs.

THRUST BOLT
P.C. 39345
WEIGHT: 5 Lbs.

CLIP ANGLE
P.C. 32941
WEIGHT: 4.3 Lbs.

HEAVY DUTY SHOE
P.C. 3942
WEIGHT: 5 Lbs.

HEAVY DUTY
BRACE BRACKET

P.C. 3%4|
WEIGHT: 38 Lbs.

1" STANDARD IMBEDS
SHOE
P.C. 33%6

WEIGHT: 5 Lbs.

THRU BOLTS WANUTS

BOLT DIA. USE WITH L(EFEWE!‘I‘IBI b(QII.E[BGSF)"‘

(12" ¢ |10 KIP ONE-POSITION BRACKET 2-6" 8
10 KIP THREE -POSITION BRACKET 36" 24
25 KIP ANCHOR CLAMP 46" 30
3
42

]

LENGTH
USE WITH (FEET)

SINGLE | [72*0THRU BOLT I

PRODUCT | WEIGHT
CODE | (LBS)

IMBED

25KIP
(SINGLE TUBE)

1 1/8"¢ O.D TUBE
(.035 WALL)

000000
000000

2'-0" 8"

1

25 KIP LONG ANCHOR CLAMP 56"

LENGTH 70 KIP OFFSET ANCHOR BRACKET 6-6'
T-6 48

8'-o" B4
9-6 60
10'-6" 66

WO 2| || n|w]|»

2' STABILITY BEAM

E i P.C. 32349
. WEIGHT: 39l Lbs.

140 KIP ONE-POSITION BRACKET 2.8 35
140 KIP TWO-POSITION BRACKET 3-8 45
40 KIP ANCHOR CLAMP 4.8 56

10 KIP 1-BOLT/2 POSITION BRACKET [ 5'-8° o1
LENGTH
-8
1.8

g'-g"
9.8
lo-g*

40KIP ¢
10 KIP
(SINGLE TUBE)

SINGLE 2°¢ THRU BOLT 2 |2* 0.D.UBE

(035 WALL)

40 KIP
WASHER PLATE

P.C. 3901
WEIGHT: I3 Lbs.

25 KIP
ANCHOR CLAMP

P.C. 38049
WEIGHT: 59 Lbs.

12 KIP | BOLT/ 2-POSITION
ANCHOR BRACKET

P.C. 330693
WEIGHT: (30 Lbs.

10 KIP THREE-POSTION
ANCHOR BRACKET

P.C. 329%
WEIGHT: 156 Lbbs.

12 KIP ONE-POSITION
ANCHOR BRACKET

P.C. 33933
WEIGHT: 76 Lbs.

25 KIP LONG
ANCHOR CLAMP

P.C. 33912
WEIGHT: 121 Lbs.

ANCHOR CLAMP

P.C. 39884
WEIGHT: 56 Lbs.

W P2 || n|w]|r

1 1/8* O.D.TUBE
(035 WALL)

o KIP DOUBLE | 1/2*¢ THRU BOLTS

(DOUBLE TUBE)

THRU BOLTS FURNISHED WITH 2 NUTS

20' STABILITY BEAM
PL. 39348
WEIGHT: 640 Lbs.

173

2% y4||

B

WEIGHT: 0.3 LBS
WEIGHT: 04 LBS

172" ¢ NUT ONLY - PC. 33876
2" $NUT ONLY - P.C. 338

ACCESSORIES

O P 2| ¢|U| ]| w|>] —

PL 3/ X 4 X ©'-II"

212" OD TUBE
(.35 WALL)

140 KIP
(DOUBLE TUBE)

DOUBLE 2" THRU BOLTS

e

2 KIP |/
WASHER PLATE

P.C. 33640
WEIGHT: 4 Lbs.

2|_“%u

W el e|w|n|w]| ] —

PL 36 x5 x [.3'

ANCHOR CLAMP

P.C. 39906
WEIGHT: 36 Lbs.

oKIP
BEARING PLATE

PC. 3989
WEIGHT: 50 Lbs.

l4o KIP
BEARING PLATE

PC. 3%le
WEIGHT: 22 Lbs.

140 KIP OFFSET
ANCHOR BRACKET

PC. 3%l
WEIGHT: 910 Lis.

12 KIP OFFSET
ANCHOR BRACKET

P.C. 3%%
WEIGHT: 198 Lbs.

NOTE: ALL PLATE GIRDER FORM APPLICATIONS
MUST BE FORWARDED TO REGIONAL
ENGINEER FOR DESIGN APPROVAL
PRIOR TO JOB COMMITMENT.

GIRDER BOLTS SPEED BOLTS TYPICAL TOOLS
[Y4" SPUD WRENCH W/DRIFT HANDLE - FOR %

SPEED BOLTS

TYP. PANEL CORNER SHOWING
GIRDER BOLT CONNECTION WITH
2- 1" A325 GIRDER BOLT5—1

3/4* SPEED NUT

SCREW JACKS
PC. 32003

[ T5 (6 OR 2 PT X J4* DR. MIN. -

DESCRIPTION W 5JgEED§EBF’O E%CKE 5 (6 OR 12 PT X ' DR.MN.) -%
SWIVEL SCREW JACK 15 Lbs.
LONG SWIVEL SCREW JACK 8 Lbs.

SWIVEL SCREW JACK BRACKET] 39333 (24 Lbs

[ 1/2*¢ CONTOUR NUT

n
A

L4 ] AR 3 1-%" DEEP SOCKET (&6 OR 12 PT X %5 DR, MIN.) -
\ > FOR I GIRDER BOLTS

cAuTIoN: ]

DO NOT USE RIGID SCREW JACK

—

3%,

PROD.

RN

AN

o\ WITH SWIVEL BRACKET OR
N EXTENSION TUBE

MAX. ALLOWABLE LOAD
CAPACITY : 24000 Lbs.
# 2:| FACTOR OF SAFETY

CAUTION:
JACK CAPACITY MAY BE LIMITED
BY BOTIOM TIE CONNECTION TO
MAX-A-FORM PANEL

| 1726 CONTOUR THD. ROD

P.C. 39943 2'-6 112"
PL.39942 36 I12*
P.C.39%l 40 12

DESCRIPTION

48" RIGID SCREW JACK
36" RIGID SCREW JACK
24" RIGID SCREW JACK

RiGID
SCREW JACKS

WELDED
ADJUSTMENT
NuT

/4" x 4*

312" MIN. THRU ['-8" MAX.
(P.C. 33286)

C. 39940)

yA
3 [2* MIN. THRU T'-I" MAX.
(PC.

VY

Q3

COTTER PN

SWIVEL SCREW JACKS

BT. PL 4" CHANNEL X /4"

| 1726 CONTOUR THRD. ROD

SWIVEL SCREW
JACK BRACKET

b“

MAX. ALLOWABLE
LOAD : 36000 Lbs.
# 2:| FACTOR OF SAFETY

CAUTION:

JACK CAPACITY 15 LIMITED
BY BOTTOM TIE CONNECTION
TO MAX-A-FORM PANEL

4 SWIVEL SCREW JACK BRACKET

3" SPACES

[*¢ STANDARD HITCH PIN
# CENTER LINES OF
EXTENSION TUBE BRACKET

EXTENTION TUBE PIVOTS AT
[* STANDARD HITCH PIN

2%

DESCRIPTION | copE

6' JACK EXT. TUBE

391

3' JACK EXT. TUBE

39338

EXT. TUBE BRACKET| 33336

MAX. ALLOWABLE LOAD : 30000 Lbs.

82 :| FACTOR OF SAFETY

EXTENSION TUBES

EXTENSION TUBE
BRACKET

CAUTION:

DO NOT USE RIGID
SCREW JACK WITH
EXTENSION TUBE

¢ EXTENSION TUBE BRACKET

3/4" DIA.
HOLD DOWN ROD

PC. 3%38
WEIGHT: 2 Lbs.

HEAVY DUTY
LIFT BRACKET

PC. 3331
WEIGHT: 5l Lbs.
CAPACITY: 20000 Lbs.

WALKWAY MOUNT

P.C. 38060
WEIGHT: 35 Lbs.

TOP TIE /
LIFT BRACKET
P.C. 33l05

WEIGHT: I3 Lbs.
CAPACITY: 8000 Lbs.

PIVOTING
WALKWAY BRACKET

P.C. 38058
WEIGHT: 32.03 Lbs.

R
Q[

lo" WALER
ROD

P.C. 33%
WEIGHT: 2.5 Lbs.

HORIZONTAL
WALKWAY MOUNT

P.C. 39744
WEIGHT: 21 Lbs.

b n n

H

cl

HEAVY DUTY
HINGE
P.C. 3304l

WEIGHT: 24 Lbs.
CAPACITY: 000 Lbs.

GUARDRAIL POST
PL. 3806
WEIGHT: 14 Lbs.

CORNER HINGE
ASSEMBLY
P.C. 33040

WEIGHT: 12 Lbs.
CAPACITY: 2185 Lbs.

WALKWAY BRACKET
P.C. 38062
WEIGHT: 25 Lbbs.

Il 3/16"
(—

O 0 o

WALER ATTACHMENT
BRACKET

PC. 39905
WEIGHT: 9.4 Lbs.

RATCHET-%' DRIVE MINIMUM

[2* SOCKET EXTENSION - (%4 DR. MIN.)

3/4" SPEED BOLT

A325 GIRDER BOLTS
PC. 3634
WT.: 0.8 Lbs.

2-%" OPEN END WRENCH - FOR I-4" SCREW JACKS

AND 14" THRU BOLTS

[*¢ 2H GIRDER NUT

DESCRIPTION AND 2* THRU BOLTS

PC. 3633

3/4" X 2" LONG SPEED BOLT

WT. : @3 Lbs.

3/4" X 3' LONG SPEED BOLT

3/4" X 4" LONG SPEED BOLT

3/4" SPEED NUT

NOTE: [* DIAMETER GIRDER BOLTS 10 BE
INSTALLED SNUG TIGHT FLUS 112 TURN.

THIS PRODUCT WAS DESIGNED FOR USE WITH
PRODUCTS MANUFACTURED BY SYMONS AND IT IS
RECOMMENDED THAT IT NOT BE COMMINGLED WITH
PRODUCTS OF OTHER MANUFACTURERS' FORMING
SYSTEMS

.EORMTECH

concrete forms, inc.

48575 Downing Street
Wixom, MI 48393

(8" ADJUSTABLE WRENCH

800.876.4857 | info@formtechinc.com

formtechinc.com

3-J%" OPEN END WRENCH - FOR 2" S5CREW JACKS

THE ABOVE REPRESENTS MINIMUM TOOLS REQUIRED FOR
ASSEMBLY, OTHER HAND AND POWER TOOLS COMMON TO
CONSTRUCTION ARE NORMALLY NECESSARY.

© 2005, Symons
Printed in U.S.A.

Product Code No. 91161



http://www.formtechinc.com

Give us a call at any of our branch locations, email us at info@formtechinc.com, or click on
formtechinc.com/quote to get a quote. Our experienced Form Tech representatives will answer your
questions, and help you get your project started with some of the best concrete forming, shoring,
and accessory products in the industry, backed by a professional and detail-oriented staff.

Charleston, SC
7377 Peppermill Lane
North Charleston,

- SC 29418

s 843.628.3434

Charleston, WV

161 Industrial Road

St. Albans,

e WV 25177
304.722.6804

Charlotte, NC

= 1000 Thomasboro Road
8 Charlotte,

NC 28208

% 704.395.9910

Cleveland, OH

#% 20801 Miles Road
North Randall,

4 OH 44128
216.692.0497

Detroit, M|

Corporate Headquarters
975 Ladd Road

Walled Lake,

MI 48390

Branch: 248.344.8260
Corporate: 248.344.8265

Pittsburgh, PA
2850-A Kramer Road

Gibsonia,

PA 15044

412.331.4500

Raleigh, NC
115 Peffinder Lane
¥ Raleigh,

g NC 27603

§ 919.833.0911

FORMTECH

concrete forms, inc.

TRUSTED FORMWORK & ACCESSORY SPECIALISTS
800-876-4857 | info@formtechinc.com | formtechinc.com


https://www.formtechinc.com/get-a-quote.html

	Max-A-Form-ID-CHART
	FT-brochures-default-back-page-rev. 7-8-21

